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Reste zakladni goniometrické rovnice:

rovnice Upravy Xo Kvadrant Vysledek
/s X€E 5—E+kﬂ'
a) cotgx = -3 cotgx, = V3 3 1. 6
ke Z
b) 2cosx:\/§ k4
2cosx=+/3 6+k2”’
J3 z L., IV iz
cosx:—3 6 ' —+k27
0 6
ke ”Z
c) sin2x=-1 2x=a
. 3z
sina = -1 xe{7+k7z}
a:%[+k27r:>x=377[+k75 ke Z
d) 3 cosbx=-5 3 cosbx = -5
cosbx=—— 9
e)x/gcotg3x=3 \/gcotg3x:3
cotg3x:\/§ xXe {£+k£}
3x=a=>cotga=A/3 . 13 3
ke Z
a=Lvir=x=2+iZ
6 18 3
2 _
f)cos”x+cosx=0 cos’ x+cosx=0 X, -7 £+k7L’,
(cosx+1)=0= 2. s
cosx-(cosx+1)= Xy, =7 T+ kO
cosx=0vcosx=-1
ke ”Z
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